Item Efficiency Background Fit model Total

my; 1525) (MeV) 1.2 0.4 752 53
L' 11525 (MeV) 4.7 0.5 J_F?:g tg:g
Fit fractions (%)
$(1020) A =0 0.8 0 FO0T 108
$(1020) [A] =1 1.3 0 o +1.3
fo(980) 1.7 0.4 +21 +28
fo(1370) 0.3 0.02 +02 +08
5(1525) A =0 1.5 0.2 +18 +24
5(1525) [A[ =1 1.1 0.4 +s 18
f2(1640) [A| =1 0.1 0.1 +07 07
$(1680) [A| =1 0.3 0.1 +id T
f2(1750) A =0 0.3 0.1 +10 +10
f2(1750) [A[ =1 1.6 0.3 +e +22
f2(1950) A =0 0.1 0.04 +02 +02
f2(1950) [A] =1 2.1 0.6 + +25
Non-resonant 1.7 0.4 iril) g tgg
S-wave within +12 MeV 0.02 0.02 o o2

of ¢(1020) peak (%)

Phases (degrees)

70(980) 19 8 i i
f0(1370) 6 1 1o +8
f2(1640) |A| =1 7 11 e e
¢(1680) |A| = 1 1 1 S
F2(1750) A 2 2 0 +9
£2(1750) \A| = 1 12 10 2 17
f2(1950) A 13 1 R 1
£2(1950) \)\| = 1 77 26 T 3

+12 +23

Non-resonant 18 7 5 50




